
 
 

Class-10th ICSE                                MTS-1 

Time Allowed: 2
𝟏𝟐 hours            Max. Marks: 80  

 

General Instructions: 

 

Attempt all questions from Section A and any four questions from Section B. 

All working, including rough work, must be clearly shown, and must be done on 

the same sheet as the rest of the answer. 

Omission of essential working will result in loss of marks. 

 

The intended marka for questions ar parts of questions are given ta brackets [ ] 

Mathematical tables are provided 

 

SECTION-A (40 Marks) 

 

(Attempt all questions from this Section) 

 

Question 1: Choose the correct answers to the questions from the given options:      [15] 

 

(i)  Manish has some shares of 20 of a company paying 12% dividend. If his annual Income is 9600, then the number of shares he 

possesses is: 

(a) 4000   (b) 5000  (c) 5200    (d) 5600 

(ii) The roots of the equation 2x2 -9x+7=0 are: 

(a) equal and rational (b) unequal and rational (c) irrational  (d) not real 

(iii) (x-1),(x+1)and(x-3) are factors of f(x)=x3 -ax2+bx+3. Then the value of f(-1) is: 

(a) 1   (b) 0   (c)-1   (d) 8 

(iv) The ath term of the GP 81, 27, 3, ... is 

(a) 
813𝑛  (b)  3𝑛−181    (c) 813𝑛−1   (d) 

813𝑛−1 

(v) Which term of the AP 21, 42, 63, is 2107 

(a) 9th  (b) 10th   (c) 11th    (d) 12th  

(vi) Which of the following points is invariant with respect to the line x = 3? 

(a) (3, 2)  (b) (-3, 2)   (c) (-2,-3)  (d) (2,-3) 

(vii) If ∆ 𝐴𝐵𝐶 ~ ∆ 𝐷𝐹𝐸, ∠𝐴 = 40, ∠𝐶 = 60, AB=6cm,AC =  5cm and DF =  12cm then 

(a) DE 8 cm, F = 60°     (b) DE= 10 cm, ∠𝐹 = 80    

(c) EF = 10 cm, , ∠𝐷 = 80   (d) EF= 7cm , ∠𝐷 = 50 

(viii) A cylindrical pencil sharpened at one edge is the combination of: 

(a) a cone and a cylinder    (b) a hemisphere and a cylinder 

(c) a sphere and a cylinder   (d) none of these 

(ix) The solution set for 2x-1 ≥ 5 –x , x𝜖 𝑅 is: 

(a) {x≥ 2, x𝜖 𝑅 } (b) {x≤ 2, x𝜖 𝑅 } (c) {x≥ −2, x𝜖 𝑅 } (d) {x ≤ −2, x𝜖 𝑅 } 

(x) A bag contains 3 rod balls, 5 white balls and 7 black bells. The probability that a ball drawn from the bag at random is 

nether red nor black is: 

(a) 
15  (b) 

13  (c) 
715    (d) 

815 

 

(xi) The transpose of us matrix [ 5 −4 1−1 6 0]is  : 

(a) [−1 6 05 −4 1] (b) [ 5 −1−4 61 0 ]  (c) [−1 56 −40 1 ]  (d) [ 5 1−4 −6−1 0 ] 
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